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Answer the Questions from any one Option.
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Paper  CSC-HG-3016
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OPTION - B
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OPTION-A
Paper : CSC-HG-3016
( Programming in Python)
1. Answer the following questions as directed :
~ (any seven) -  1x7=7

{a) The process of finding and resolving
errors in a computer program is called
(Fill in the blank)

(b) An algorithm represented in the form
of programming languages is
- (1) Flowchart
(i) Decision Table
(iii) Program
(iv) None of the above
- {Choose the correct option)

(c) Python is a case-sensitive language.

~ (State True or False) .

d Extension of Python file is
(Fill in the blank}

(e} Which of the following is used to define
a block of code in Python language ?
(i) Brackets
(i) Indentation
(i) Start .... stop
(iv) . None of the above
(Choose the correct option)
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(g)

(h)

(1)

)

(k)

0

Truncation division operator in Python
is LA (Fill in the blank)

Which of the following is a Python
tuple ?

@) 8,95
i) B, 9
(i) (7,8, 9)

(iv) None of the above

function is used to determine
number of items in a list. :
: (Fill in the blank)

Strings are arrays of bytes representing
Unicode characters. (State True or False)

A is a prototype from which
objects are created. (Fill in the blank)

Arithmetic operator has higher priority
than relational operator.
(State True or False)

Python is an interpreted programming
language. (State True or False)
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2. Define any four of the following terms : () Write a function that takes an integer

2ai sy input and calculate the factorial of that
(a) Documentation number.
(b) Flowchart (d) Give brief description of any five list
: functions.

(¢) Bottom-up programming . .
: (e) Give brief description of any five string

(d) Keyword functions.
(e} Python shell : () What are the differences between string

and list?

() Exception -
(g9 What are nested list in Python ? Give

(g) Recursive function : example.
(h) Object ‘ i ; (h) Give brief introduction to class and
object. e
3. Answer any three of the following : !
fEuaiiis 4. Answer any three of the following :
: 10x3=30

(a) What are different types of errors in :
(a) Write a program to generate Fibonacci

programming ? Explain. _
series.

b) Differentiate among break, continue ; i ; :
() : &. (b) Write a program to print factors of a

and pass. ;
given number.
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() Write output of the following (f) Write short notes on the follow.mg:

statements : : () Python Atoms
() i=1 ; (ii) Bitwise operator
while True . (g) Write a brief description of default
£ 1%3 == argument and standard libraries.
' break : (h) . Write a program to create queue class
d impl
Print (i) and imp emeqt all the methods.
i+=i

() 2wk (35+2)
(i) x = ‘abed’
for 1) X
~ print (fupper () 5
(ivj print (“uni\;ersity” [2:4])
(v) print (“abc” * J)

(d) Write a program to create stack class

and implement all the methods.

(¢) Write a program to implement linear
and binary search on lists.
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OPTION -B
Paper : CSC-HG-3026
{ Computer Network and Internet Technologies)

Answer either in English or in Assamese.

1. Answer the following as directed : (any seven)
| , 1x7=7

wore A FoRm SR Ued ¢

_( frmic res!)

(a) Give an example of MAN.

'MAN T ¢fc Twizsel |

(b) Write the full form of www.
www I T W7ol o |

(¢ Which tag is used for hyperlink in
HTML ?

Hyperlink f<tst HTML © (05! <219 21 2

(d) Bluetooth is not a guided media.
(State True or False)
Bluetooth &% guided media 23|
(5% (7 q%% CEgs 7)
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()

(9)

(h)

()

Give an example of web browser.

Web browser S «f Twizgel @@l |

Write an advantage of bus topology.

Bus topology ¥ ¢t Tuigad |

What do you mean by the term
‘E-Commerce’ ?

E-Commerce 4 ofsl & @ ¢
There is no difference between Internet
and Intranet. (State True or False)
Internet S% Intranet S &S (IICAl HIRE
iz | (% @ % )
Opt1ca1 fiber is a guided media. -
(State True or False)
Optical fiber 251 guided MG |
(8% &7 o 7%%/?)

Full form of URL is

(Fill in the blank)

URLI Af @l T |
(=T 2 959 P1)
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(k) In HTML, tag is used to insert
an image. (Fill in the blank)
HTML © g3 5@ Swo@ FEe tag
ST E (I IR 799 )

(). In JavaScript, s’tring objects are
mutable. (State True or False)

JavaScript ¥ string object (@F mutable
| (9% 7 95% [74))

2. ' ‘Define the followihg terms : (any four)
| _ 2x4=8
e frAcAIss Wk w2 (Remean sifaby)

(a) ISP - : | L

(b) NIC

(c) Extranet

(d) FTP

(e} WAN

() Gateway
. (g) VOIP

(h) CSS

3 (Sem
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Answer any three of the following questions :

5x3=15

e fofi s A s

(@) What do you mean by methods and

(b)

events in JavaScript ? Give examples.
1t2+2=5

JavaScript ® methods W% events AT
5 2 Twigmel | ‘
Explain how to insert list on a web page

with the help of an example.

Tieik FATS web page <o MG list

RS TR I

(c) Discuss the uses of bridge and router.
Bridge % router ¥ I R S
411

(d) Define the terms:
sfees) e ¢
Home page, Blogs, Upload, Search
Engine, Video-conferencing
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(e) Write a JavaScript program to find the

factorial of a number.

@t IR factorial SRR <G J avaScript
program f&12 |

() Give brief description of components of
data communication.
O communication I SRR 53 91 a1l |
{(g) { Compare star topology with bus
topology.
Star topology ¥ #15% bus topology I 9]
ESIN
(h) Describe the functions of web server.,
(TR SIORT SRR I frn |
Answer any three of the following : :
10x3=30
S Riceica fefbrg et il ¢
(a) List the merits and demerits of different

transmission media.

fﬂ?ﬂﬁﬁﬁ%ﬂﬁmmwﬁwﬁ
M
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(b)

(c)

()

(e)

Discuss different topologies used in LAN.

LAN® I7%® ffen topology = Ra@
S |

Write a JavaScript program to find the

maximum of three numbers.

ot 7122y foes SR UGl TEmaiE
451 JavaScript program ol

Write the HTML code for creating the

following table :

wF (3RET4 FIREe HTML (TS fovdl 5

Prime Minister

‘ India UK

Narendra Modi - Rishi Sunak

Discuss about different network devices.

fafes network device ¥ acg =ieEn 90 |

Explain OSI reference model.

O8I reference model ¥ R el |
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(g) Briefly explain the functions of FTP

Se i :

arch Engines, Telnet, HUB and VOIP. _ OPTION-C

FTP, Search ‘ . i |

¢ ch Engines, Télnet, HUB WR: COMPUTER APPLICATION
OIPS R¥t¥ 5t iyt 31|

Paper : CSC—HG—3036/CSC-RC—3016/TCA—RC—3016 [TCA-HG-3016

() Create a simple form in HTML with Input

Type, Select and Text Area. ( Operating Systems)

HTML ® Q< 174l form @RI TS Input Answer either in English or in Assamese.

Type, Select W% Text Area | . |. Answer any seven the following questions
as directed: 1x7=7
el Tl eI Rl Arobig FoMRE el
foval ¢ 3005

(a) Operating system is an appli-cation_
software. (State True or False)

Operating system o1 appliéation
software (9% @ 99T )

(b) ___is the system call to create a

new process in POSIX. :
(Fill in the blank)

POSIXS Fgd D C(OIW TR
system call =Wl
(0T A2 7T )
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(g) Briefly explain the functions of FTP

Se i :

arch Engines, Telnet, HUB and VOIP. _ OPTION-C

FTP, Search ‘ . i |

¢ ch Engines, Télnet, HUB WR: COMPUTER APPLICATION
OIPS R¥t¥ 5t iyt 31|

Paper : CSC—HG—3036/CSC-RC—3016/TCA—RC—3016 [TCA-HG-3016

() Create a simple form in HTML with Input

Type, Select and Text Area. ( Operating Systems)

HTML ® Q< 174l form @RI TS Input Answer either in English or in Assamese.

Type, Select W% Text Area | . |. Answer any seven the following questions
as directed: 1x7=7
el Tl eI Rl Arobig FoMRE el
foval ¢ 3005

(a) Operating system is an appli-cation_
software. (State True or False)

Operating system o1 appliéation
software (9% @ 99T )

(b) ___is the system call to create a

new process in POSIX. :
(Fill in the blank)

POSIXS Fgd D C(OIW TR
system call =Wl
(0T A2 7T )

3 (Sem-3/CBCS) CSC/TCA/IN (HG/RO)/G 14

) (Sem-3/CBCS) CSC/ICA/TT (HG/RSY/G 15 . Contd:




(k) is a non- preemptwe scheduhng g sipvatsm. call
lgorithm. F the blank
algorithm (Fill in the blank) 0 basin,
@5l non-preemptive scheduling
algorithm. (5T 12 959 #9) 3. Answer any three of the following
- : questions : - 5x3=15
() command is used to change the | >
access permissions and the special oot e et i ¢
mode flags of file.  (Fill in the blank) (@) What are different types of operating
S 7929 S8 FITER access system ? Give brief introduction of each.
permissions W% the special mode flag fRfon emRe S B & 5 ¢ ST
@ TR IR AR (9 IR 779 ) o3 fRaet |
2. Define any four of the following terms: - (b) What are the basic functions of an
| _ 2x4=8 operating system ? _
Ricereant BIfB! e et 1 ¢ it E ﬁ”

(a) Resource abstraction : .
(c) Give brief description of any two system

calls.

[icwie vb! system call 3 53 K=o fat |

(b) Multiprogramming

(c) Real time system

() What is shell ? Write the syntax of loops

_(d) Process
: used in shell script.

(e} Process modes | Shell £ ¢ Shell scr1pt © GRS (T loop

o (A4 syntax o7l |
rea
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(e)

(9).

()

What is virtual memory ? What are the

advantages of virtual memory ?

Virtual memory & ? T JRYE@R ENE

Write a shell script to display the
multiplication table of any number.
R TRUE et e R <ol
shell script foratr

Write a shell script to find LCD (least

common divisor) of two numbers.

WH! T 7. AL 8. SleT=eet «Oi shell script
forr |

Write a shell script to check whether

the number is Armstrong or not.

@5 2T Armstrong MY (F T 9@’@
fate 61 shell script ol
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Answer any three of the following

questions : 10x3=30
Ficpica fofabr eisiq Tes fovalt ¢
(a) Define process and thread. What are

(b)

the advantages of implementing threads
in user space? What are the
disadvantages ?

Process W% thread ¥ el 72| User
space © thread JIFIRAT F9 T{[ﬁw 153
& ¢ spffRaEE & & 2

Briefly explain any two non-preemptive
scheduling algorithm.

Ricplct 76! non-preemptive scheduling
algorithm <IN <41 |

Write a shell script to accept a login
name. If not a valid login name display

message “Invalid login name”.

Login name &% FR[A(sT €6t shell scripf
fé14l | Login name (3% 7%(#, “Invalid login
name” AS A = |
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vofd) Write: a  shell. seript yo fnerge the e s : ¢ !
contents of three files and sort the (ly): Write short, notes on :
contents and then c_lisplay‘them page : 5 GR it 8

by page.
Rofiibt wpiser 2 FECAIGH TRt @1 shell

.' scnpt%mmﬁmmfiﬁémwm
9

iy ~Grep
(1) 'Pipes and Filters

~ (e) Briefly explain memory allocation
strategles

Memory allocation @‘:I“WF@W 53 11 FA |

() Explam the difference between internal
fragmentation and external fragmentation.
Which one occurs in paging systems ?

Internal fragmentation ¥ external
fragmentation “NEHRT Fefar <41 | Paging
system © (PO 2T ?

(g9 Explain usage of the following
commands :

TS il i SRR o

Is, pwd, tty, cat, who, who am I, rm,
mkdir, rmdir, touch
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OPTION - D
COMPUTER SCIENCE/
 INFORMATION TECHNOLOGY
Paper : CSC-HG-3046/TIT-RC-3016
(ICT Hardware)

Answer either in English or in Assamese.

Answer any seven of the following questions
as directed : 1x7=7

foTl ¢ ,

{a) Full form of SRAM is )
(Fill in the blank)

SRAM I o f w2 |
' (0271 12 %79 F)

(b) Maximum effective operating distance
for wireless keyboard/mouse is 9 meter.
(State True or False)

©EREH keyboard/mouse I ] ARG
o 5 9 meter | ‘

(9% 7 So7 f3)
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()

()

Performance of Laser Printer is
measured in :

(i) dots per iﬁch
(i) pages per minutes
(iii) cost per page
(iv) None of the above

(Choose the correct option)
(@R A5RE SIS TS =
i) Dot @S ¥
(i) o ofe FEe
(i) @fS (7ieq 4/
(iv) €IS T
Maximum amount of RAM for a 32-bit
processor is —_. (Fill in the blank)
32 5 2iteT® A F #[1 FHES RAM
B | (3Tt 12 73 )

For internal drive file system, NTFS is
faster than exFAT. (State True or False)

wieraRl F%s BHET A exFAT OUF NTFS
G5 | (w7 (7 S35 [ET3))
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(9)

(b

(i)

0

Master Boot Record (MBR) can use up
to 2TB of storage space.

. (State True or False)

- Master Boot Record (MBR) @ (&% 2TB

(TR 9T R NE| (9% (7 9% &730)

Solid State Drive (SSD) should be
defragmented regularly.

(State True or False)

Solid State Drive (SSD) @™ Fafieei
defrag 3R/ #ital| (%% 7 55% o)

Full form of PCI is

PCII s Fo g1
(wa‘?év?vﬁcr ?ﬁf)

Full form of BIOS is
(Fill in the blank)
BIOS ¥ ﬁcf G A
(=T 1% 979 7)

Number of pins in RJ45 jack is :
(Fill in the blank)
RJ45 © ﬁﬁa PG e

(=T éﬁ* 939 391)
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(Fill in the blank) -

(k) BIOS is a hardware.
(State True or Fai se)

BIOS' €5t FEAEH | (5% (7 Tu% )

() Switch is mtelhgent than hub.
(State True or False)

Hub S Switch @ 3w
(o% o TEF TH0)

Deﬁne the following : (any four) | 2x4=8
scet fral 3 (Rigereal BifoY)

(a) Scanner

(b) FAT

(c) Disk Cleanup

(d) Optical Media

(e) USB

(f) Virtual Memory

(g) Patch Cord

(h) 1/0 Box

td.
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3.

Answer any three of the follbwi'ng
questions : : 5x3=15

Rl fRfnr e Tew i

(a) Write in brief about evolution of
computer system.

FTH R s 55 e = |

(b) Write any five differences between FAT
and NTFS. :

FAT W% NTFS 3 &= Repiza 2155! #i9
foralt |

(c} What‘are the differences between MBR
and GUID Partition Table (GPT)
partitioning scheme ?

MBR 9@ GUID Partition Table (GPT)
TS Al & e

(d) Why is optical media becommg
obsolete ?

Optical iy &7 weblTe (2% ?
(e) Give an overview of 13th Gen Intel Core
Processor. :

13th Gen Intel Core Processor < 53 Sie(y
gl
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() Write down the steps for installing
additional HDD in a computer system.

@5l F{Tol BorTe Sfee HDD A
T GAER fovall |

(g9) What are different kinds of RAM ?
RAM ¥ fifen eoREE & & ¢

(h) What are different ways of hooking a
PC onto the network ?

@2 (F69°FS PC 9Bl S A SR A
forall |

Answer any three of the following
(uestions : 10x3=30

i A R fofan! eeE T Bl ¢

(@) Explain about classification of
computers.

o (iRt g w41

(b) Explain logical structure of Hard Disk
Drive. Discuss new trends in storage
media. 6+4=10

Hard Disk Drive 3 s1&i3a s1os A1<7 4 |
e A o 2RI ST <541 |
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. (4) What is IP address? How to protect
(c) Explain any four transmission medium and hide IP address?
: used in‘ computer networks. [P address & ? IP address (AT ?ﬁﬁ@
FIEACOR (TP R 2 R 57 i (oI R AR
PR AT g e x| ' gl
‘ : (h) Write short notes on:
(d) What is BIOS? What are .the' tasks 53 (B forall ¢
performed by BIOS ? What is SMPS ? i ; s
Describe the working of SMPS. _ i ol
144+ 1+4=10 (ii) Motherboard
BIOS f& ? BIOS « 31 i 5 & 2 SMPS
f ? SMPS @ (s i 77 2
(e} Preparea list! of comp-onents to
assemble a PC. Write the steps of
assembling process
951 FTHR a3fae R arieTy
BISIEE] l%ﬁﬁ&@“ﬂl(ﬂﬁslsﬂ\ﬂ WW
[GEW
(f) Write short notes on: (any two)
S forai 2 (Remzant 7o17)
(i) Disk Defragmenter
- (i), Virus Scanner
(iii) Motherboard |
(iv) Network Interface Card ,
| § B 4018 CS0/TON/TT (HGJR/G 31 1000
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